Problem Solving: Money

. A pencil costs 45¢. Anastasia has 2 dimes, 3 nickels and 4 pennies.
Does she have enough money?
Show your work:

Answer:

. Which is more: 7 dimes or 2 quarters?
Show your work:

Answer:

. Julie had 27¢. She found a dime. How much money does she have now?
Show your work:

Answer:

. Berta has 22 pennies. Martha has 2 dimes and 1 nickel. Who has more?
How much more?
Show your work:

Answer:

. Peter has 2 dimes, 3 nickels and 5 pennies. Anna has 2 quarters.
Who has more? How much more?
Show your work:

Answer:
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